Name ____Key__________________________  Date ___December_________

Unit 4 Multiplying and Dividing Parts of a Whole

Adv. Math Study Guide

Problem 1

a. 0.45 x 100= 45


b. 3456 x 0.01= 34.56
c. 8 x 0.1= 0.8


d. 4.57 x 10= 45.7
e. 54.9 x 1000= 54,900

f. 421 x 0.1= 42.1
Problem 2

Use the 10 x 10 grids below to model and answer each problem.

a. 0.3 x 0.4= 0.12




b. 0.5 x 0.3 = 0.15
	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Problem 3

Frances bought 15 tickets for $3.50 each. She multiplied 15 x $3.50 which gave her a total cost of $52.50. She then purchased another set of 15 tickets $35.00 per ticket and mentally solved for the total amount.

Explain the mental math strategy Frances used to find the total cost for the $35.00 tickets.
 If 15 x $3.50 = $52.50, then x 10 ($35.00 per ticket) = $525.00


Move the decimal over 1 place to the right in $3.50 to $35.00
Problem 4

Russell’s pet dog weighs 22 ½ pounds. Russell weighs 4.3 times as much as his dog. How much does Russell weigh? Show your work.
22.5 x 4.3 = 96.75 lbs.
Russell weighs 96.75 pounds.

Problem 5

Marie put a 36.5-inch long wool scarf in the dryer. When she took it out, Marie discovered that the scarf had shrunk to 0.3 of its original length. How long was the scarf after it shrank? Show your work.

36.5 x 0.3 = 10.95 inches
The scarf was 10.95 inches long after it shrank.

Problem 6

The pattern block figure below represents one whole. Model 1/6 x ½ and label.











1/6 x ½ = 1/12
this 
is 

1/6

Problem 7
Estimate answers to the following problems.

a. 29 ¾ ÷ 10 ¼ = 30 ÷ 10 = 3
b. 11/10 x 8/9 = 1 x 1 = 1
Choose one of the problems above and explain how you estimated the product or quotient.
I rounded 11/10 to 1 and 8/9 to 1, and them multiplied 1 x 1
Problem 8
Solve the following problems. Show your work.

In the cafeteria ¾ of the students bought pizza. Of those who bought pizza, 3/5 also buy chocolate milk. What fraction of the students in the cafeteria buy pizza AND chocolate milk?
¾ x 3/5 = 9/20
9/20 of the students buy pizza and chocolate milk.

Problem 9

Nina’s sub sandwich was 2 ¼ feet long when she arrived at the lunch room table. Unfortunately, 1/3 of the length of her sandwich was missing when she returned from the lunch line. How many feet of Nina’s sandwich was missing? Show your thinking.

 2 ¼ x 1/3 = 9/4 x 1/3 = 9/12 = 3/4
3/4 feet of Nina’s sandwich was missing.

Problem 10

Use the circle graph to model ¾ ÷ 1/8. Think, “How many 1/8’s does it take to cover ¾ of the circle?” 
¾ ÷ 1/8 = 6.

11.) George, Michael, Chris, and Carlo each wrote a problem on their dry erase boards.
George: 2 x 12/13 = 2

Michael: 1/6 x 48 1/12 = 8
Chris: 15 x 1/3 = 5


Carlo: 16/3 x 11/2 = 25
Whose problem has an answer that is closest to 10? Estimate each problem.

a. George

b. Chris

c. Michael

d. Carlo

12.) In the expression below which fraction could be placed on the line to create a quotient greater than 4?




4 ÷ _2/3___ = 6
a. 20/4
b. 2/3

c. 4/3

d. 24/3
13.) The 10 x 10 grid below represents one whole. What problem is modeled on the grid?

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


a. 0.2 x 0.3

b. .20 ÷ 3

c.0.10 x 0.4

d. 0.4 ÷ 0.2
14.) Mrs. Signorino wrote some problems on the board. Which of these has a product or quotient greater than 1/3?
a. 1.4 x 0.1

b. 0.4 ÷ 0.2

c. .24 x .75

d.  .25 ÷ .55
15.) What problem does this model represent?

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	        
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


a. 2.1 ÷ .06 =4

b. 0.03 x .60 = 3.1

c. 0.2 ÷ 0.06 = 3 1/3 

d. 0.2 x 3.10 = 4
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